=
<

a(0 @) (raqd)

d cot(d))

=

2
N
|

107 s EH AR R R oo

© 107 -{of
[S) E

C
1072+~ --HIER R - -
i i 'n.’iti.'l”

i ol

Ratio

Ll

1 2 3 -3 -2 -1 0 1 2 3

— n ] —_Global_mKFIt_baseline
—e— DQM_V0001_R000000001__Global__mkFit_var
—— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean

—— DOM_V0001 R000000001__Global__mkFit_jcore50maxCand-24DUPremoval

! ! I ! N
1072 szl R TR B g b A ez

.........................

...........................

..............................

hiidd

TP n (PCA to beamline)

Rati
- N
BSnaaay
P L
—— L

oo p/p.)

T
e — e I ]
e

107

£ . |
bl il

-1

TP n (PCA to beamline)



	Contents
	Page 1


